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1Q
2n Marks an anomalous form.
3p We read punctuation in L differently from BHS.
4U
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x-morph=”OSHM:HVqp3ms” x-cantillationLevel=”1.0”
”strong=”3068|������� x-morph=”OSHM:HNp”
strong=”6635|��������� b” x-morph=”OSHM:HNcbpa”
x-cantillationLevel=”1” ”strong=”c/8104|��������������/��
x-morph=”OSHM:HC/VNq2mp” ”strong=”b/7307|����/�����/���
x-morph=”OSHM:HR/Ncbsc/Sp2mp”
x-cantillationLevel=”0.0” ”strong=”c/3808|����/��
x-morph=”OSHM:HC/Tn” ”strong=”898|�����������
x-morph=”OSHM:HVqi2mp” x-cantillationLevel=”0”�
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x-morph=”OSHM:HVhp2mp” ”strong=”3068|�������
x-morph=”OSHM:HNp” x-cantillationLevel=”1.1.0”
”strong=”b/1697|����/�������/���
x-morph=”OSHM:HR/Ncmpc/Sp2mp”
x-cantillationLevel=”1.1” ”strong=”c/559|�����������/��
x-morph=”OSHM:HC/Vqq2mp” x-cantillationLevel=”1.0”
”strong=”b/4100|�����/��� x-morph=”OSHM:HR/Ti”
”strong=”3021|����������� x-morph=”OSHM:HVhp1cp”
x-cantillationLevel=”1” ”strong=”b/559|����/������/���
x-morph=”OSHM:HR/Vqc/Sp2mp” x-
cantillationLevel=”0.1.2” ”strong=”3605|����
x-morph=”OSHM:HNcmsc”��������|strong=”6213
a” x-morph=”OSHM:HVqrmsc” strong=”7451|����

a” x-morph=”OSHM:HAamsa” x-cantillationLevel=”0.1.1.1”
strong=”2896|����� a” x-morph=”OSHM:HAamsa”
x-cantillationLevel=”0.1.1.0” � strong=”b/5869|�������/���
a” x-morph=”OSHM:HR/Ncbdc” ”strong=”3068|�������
x-morph=”OSHM:HNp” x-cantillationLevel=”0.1.1”
”strong=”c/b|����/��/�� x-morph=”OSHM:HC/R/Sp3mp”
x-cantillationLevel=”0.1.0” ”strong=”1931|�����
x-morph=”OSHM:HPp3ms” strong=”2654|������
a” x-morph=”OSHM:HVqp3ms” x-cantillationLevel=”0.1”
strong=”176|���� a” x-morph=”OSHM:HC”
”strong=”346|������� x-morph=”OSHM:HTi”
x-cantillationLevel=”0.0” ”strong=”430|��������
x-morph=”OSHM:HNcmpc” ”strong=”d/4941|�����������/��
x-morph=”OSHM:HTd/Ncmsa” x-cantillationLevel=”0”�

3 ”strong=”2005|����/����
x-morph=”OSHM:HTm/Sp1cs”
”strong=”7971|��������

x-morph=”OSHM:HVqrmsa” x-
cantillationLevel=”1.1.0” ”strong=”4397|�/���������
x-morph=”OSHM:HNcmsc/Sp1cs” x-
cantillationLevel=”1.1” ”strong=”c/6437|������/��
x-morph=”OSHM:HC/Vpq3ms”��������|strong=”1870”
x-morph=”OSHM:HNcbsa” x-
cantillationLevel=”1.0” ”strong=”l/6440|�/�����/��
x-morph=”OSHM:HR/Ncbpc/Sp1cs”
x-cantillationLevel=”1” ”strong=”c/6597|��������/��
x-morph=”OSHM:HC/D” ”strong=”935|�������
x-morph=”OSHM:HVqi3ms” ”strong=”413|���
x-morph=”OSHM:HR”��/��������|strong=”1964”
x-morph=”OSHM:HNcmsc/Sp3ms”
x-cantillationLevel=”0.1.1.1” ”strong=”d/113|�������/��
x-morph=”OSHM:HTd/Ncmsa”
x-cantillationLevel=”0.1.1.0” �
strong=”834|������ a” x-
morph=”OSHM:HTr”��������|strong=”859
d” x-morph=”OSHM:HPp2mp”
”strong=”1245|������������
x-morph=”OSHM:HVprmpa” x-
cantillationLevel=”0.1.1” ”strong=”c/4397|���������/��
x-morph=”OSHM:HC/Ncmsc”
”strong=”d/1285|��������/��
x-morph=”OSHM:HTd/Ncfsa” x-
cantillationLevel=”0.1.0.0” strong=”834|������
a” x-morph=”OSHM:HTr”��������|strong=”859
d” x-morph=”OSHM:HPp2mp”
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”strong=”2655|��������� x-
morph=”OSHM:HAampa” x-
cantillationLevel=”0.1.0” ”strong=”2009|������
x-morph=”OSHM:HTm”�����|strong=”935”
x-morph=”OSHM:HVqrmsa” x-
cantillationLevel=”0.1” ”strong=”559|������
x-morph=”OSHM:HVqp3ms” x-
cantillationLevel=”0.0” ”strong=”3068|�������
x-morph=”OSHM:HNp” strong=”6635|���������
b” x-morph=”OSHM:HNcbpa”
x-cantillationLevel=”0”� 2
”strong=”c/4310|����/�� x-
morph=”OSHM:HC/Ti” ”strong=”3557|�����������
x-morph=”OSHM:HVlrmsa” x-
cantillationLevel=”1.1.0” ”strong=”853|���
x-morph=”OSHM:HTo”������|strong=”3117”
x-morph=”OSHM:HNcmsc” ”strong=”935|��/������
x-morph=”OSHM:HVqc/Sp3ms” x-
cantillationLevel=”1.1” ”strong=”c/4310|����/��
x-morph=”OSHM:HC/Ti” ”strong=”d/5975|������/��
x-morph=”OSHM:HTd/Vqrmsa” x-
cantillationLevel=”1.0” ”strong=”b/7200|��/����������/���
x-morph=”OSHM:HR/VNc/Sp3ms”
x-cantillationLevel=”1” strong=”3588|�����
a” x-morph=”OSHM:HC”������|strong=”1931”
x-morph=”OSHM:HPp3ms” x-
cantillationLevel=”0.1.0” ”strong=”k/784|�����/���
x-morph=”OSHM:HR/Ncbsa”
”strong=”6884|�������� x-
morph=”OSHM:HVprmsa” x-
cantillationLevel=”0.1” ”strong=”c/k/1287|�������/��/��
x-morph=”OSHM:HC/R/Ncfsa” x-
cantillationLevel=”0.0” ”strong=”3526|������������
x-morph=”OSHM:HVprmpa” x-
cantillationLevel=”0”� 3 ”strong=”c/3427|�������/��
x-morph=”OSHM:HC/Vqq3ms”
”strong=”6884|�������� x-
morph=”OSHM:HVprmsa” ”strong=”c/2891|��������/��
x-morph=”OSHM:HC/Vprmsa” x-
cantillationLevel=”1.2.0” ”strong=”3701|�������
x-morph=”OSHM:HNcmsa” x-
cantillationLevel=”1.2” ”strong=”c/2891|������/��
x-morph=”OSHM:HC/Vpq3ms”
”strong=”853|��� x-morph=”OSHM:HTo”��������|strong=”1121
a” x-morph=”OSHM:HNcmpc”�������|strong=”3878”
x-morph=”OSHM:HNp” x-cantillationLevel=”1.1.0”

”strong=”c/2212|�������/��
x-morph=”OSHM:HC/Vpq3ms”
”strong=”853|�/����� x-morph=”OSHM:HTo/Sp3mp”
x-cantillationLevel=”1.1” ”strong=”k/2091|�������/���
x-morph=”OSHM:HRd/Ncmsa” x-
cantillationLevel=”1.0” ”strong=”c/k/3701|�������/��/��
x-morph=”OSHM:HC/Rd/Ncmsa” x-
cantillationLevel=”1” ”strong=”c/1961|������/��
x-morph=”OSHM:HC/Vqq3cp” x-
cantillationLevel=”0.1.0” ”strong=”l/3068|������/���
x-morph=”OSHM:HR/Np” x-
cantillationLevel=”0.1” ”strong=”5066|�����������
x-morph=”OSHM:HVhrmpc” ”strong=”4503|��������
x-morph=”OSHM:HNcfsa” x-
cantillationLevel=”0.0” ”strong=”b/6666|��������/���
x-morph=”OSHM:HR/Ncfsa” x-
cantillationLevel=”0”� 4 ”strong=”c/6149|���������/��
x-morph=”OSHM:HC/Vqq3fs” x-
cantillationLevel=”1.1.0” ”strong=”l/3068|������/���
x-morph=”OSHM:HR/Np” x-
cantillationLevel=”1.1” ”strong=”4503|��������
x-morph=”OSHM:HNcfsc” ”strong=”3063|���������
x-morph=”OSHM:HNp” x-cantillationLevel=”1.0”
”strong=”c/3389|�������������/��
x-morph=”OSHM:HC/Np” x-
cantillationLevel=”1” ”strong=”k/3117|�����/���
x-morph=”OSHM:HR/Ncmpc”
”strong=”5769|������� x-
morph=”OSHM:HNcmsa” x-
cantillationLevel=”0.1” ”strong=”c/k/8141|��������/��/��
x-morph=”OSHM:HC/R/Ncfpa” x-
cantillationLevel=”0.0” ”strong=”6931|��������������
x-morph=”OSHM:HAafpa” x-
cantillationLevel=”0”� 5 ”strong=”c/7126|�����������/��
x-morph=”OSHM:HC/Vqq1cs”
”strong=”413|����/����� x-
morph=”OSHM:HR/Sp2mp” x-
cantillationLevel=”1.2.0” ”strong=”l/4941|�����������/��
x-morph=”OSHM:HRd/Ncmsa” x-
cantillationLevel=”1.2” ”strong=”c/1961|���������/��
x-morph=”OSHM:HC/Vqq1cs” x-
cantillationLevel=”1.1.1.0” �
”strong=”5707|���� x-morph=”OSHM:HNcmsa”
strong=”4116|�������� a”
x-morph=”OSHM:HVprmsa” x-
cantillationLevel=”1.1.1” ”strong=”b/3784|�������������/����
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x-morph=”OSHM:HRd/Vprmpa” x-
cantillationLevel=”1.1.0” ”strong=”c/b/5003|������������/��/��
x-morph=”OSHM:HC/Rd/Vprmpa”
x-cantillationLevel=”1.1” ”strong=”c/b/7650|��������������/��/��
x-morph=”OSHM:HC/Rd/VNrmpa”
x-cantillationLevel=”1.0” ”strong=”l/8267|��������/��
x-morph=”OSHM:HRd/Ncmsa” x-
cantillationLevel=”1” ”strong=”c/b/6231|���������/��/��
x-morph=”OSHM:HC/R/Vqrmpc”
”strong=”7939|������ x-morph=”OSHM:HNcmsc”���������|strong=”7916”
x-morph=”OSHM:HAamsa” x-
cantillationLevel=”0.1.0.0” ”strong=”490|����������
x-morph=”OSHM:HNcfsa” ”strong=”c/3490|�������/��
x-morph=”OSHM:HC/Ncmsa”
”strong=”c/5186|������/�� x-
morph=”OSHM:HC/Vhrmpc”�����|strong=”1616”
x-morph=”OSHM:HNcmsa” x-
cantillationLevel=”0.1.0” ”strong=”c/3808|����/��
x-morph=”OSHM:HC/Tn” ”strong=”3372|���/��������
x-morph=”OSHM:HVqp3cp/Sp1cs”
x-cantillationLevel=”0.1” ”strong=”559|������
x-morph=”OSHM:HVqp3ms” x-
cantillationLevel=”0.0” ”strong=”3068|�������
x-morph=”OSHM:HNp” strong=”6635|���������
b” x-morph=”OSHM:HNcbpa”
x-cantillationLevel=”0”� 6
strong=”3588|����� a” x-
morph=”OSHM:HC” x-cantillationLevel=”1.0.0”
”strong=”589|������ x-morph=”OSHM:HPp1cs”
”strong=”3068|������� x-
morph=”OSHM:HNp” x-cantillationLevel=”1.0”
”strong=”3808|���� x-morph=”OSHM:HTn”
strong=”8138|���������� a”
x-morph=”OSHM:HVqp1cs” x-
cantillationLevel=”1” strong=”c/859|�������/��
d” x-morph=”OSHM:HC/Pp2mp”
strong=”1121|������� a” x-
morph=”OSHM:HNcmpc”���������|strong=”3290”
x-morph=”OSHM:HNp” x-cantillationLevel=”0.0”
”strong=”3808|���� x-morph=”OSHM:HTn”
”strong=”3615|��������� x-
morph=”OSHM:HVqp2mp” x-
cantillationLevel=”0”� 7 ”strong=”l/m/3117|�����/��/��
x-morph=”OSHM:HR/R/Ncmpc”
”strong=”1|����/������� x-
morph=”OSHM:HNcmpc/Sp2mp” x-

cantillationLevel=”1.2.0.0” ”strong=”5493|���������
x-morph=”OSHM:HVqp2mp”
”strong=”m/2706|��/�����/���
x-morph=”OSHM:HR/Ncmpc/Sp1cs”
x-cantillationLevel=”1.2.0” ”strong=”c/3808|����/��
x-morph=”OSHM:HC/Tn” ”strong=”8104|������������
x-morph=”OSHM:HVqp2mp” x-
cantillationLevel=”1.2” ”strong=”7725|��������
x-morph=”OSHM:HVqv2mp” ”strong=”413|��/����
x-morph=”OSHM:HR/Sp1cs” x-
cantillationLevel=”1.1.0” ”strong=”c/7725|����������/��
x-morph=”OSHM:HC/Vqh1cs”
”strong=”413|����/����� x-
morph=”OSHM:HR/Sp2mp” x-
cantillationLevel=”1.1” ”strong=”559|������
x-morph=”OSHM:HVqp3ms” x-
cantillationLevel=”1.0” ”strong=”3068|�������
x-morph=”OSHM:HNp” strong=”6635|���������
b” x-morph=”OSHM:HNcbpa” x-
cantillationLevel=”1” ”strong=”c/559|�����������/��
x-morph=”OSHM:HC/Vqq2mp” x-
cantillationLevel=”0.0” ”strong=”b/4100|�����/���
x-morph=”OSHM:HR/Ti” ”strong=”7725|��������
x-morph=”OSHM:HVqi1cp” x-
cantillationLevel=”0”� 8 ”strong=”i/6906|���������/��
x-morph=”OSHM:HTi/Vqi3ms” ”strong=”120|������
x-morph=”OSHM:HNcmsa” x-cantillationLevel=”1.1.1.0”
”strong=”430|��������� x-
morph=”OSHM:HNcmpa” x-cantillationLevel=”1.1.1”
strong=”3588|����� a” x-morph=”OSHM:HC”
strong=”859|������� d” x-morph=”OSHM:HPp2mp”
x-cantillationLevel=”1.1.0” ”strong=”6906|���������
x-morph=”OSHM:HVqrmpa” ”strong=”853|�/�����
x-morph=”OSHM:HTo/Sp1cs” x-
cantillationLevel=”1.1” ”strong=”c/559|�����������/��
x-morph=”OSHM:HC/Vqq2mp” x-
cantillationLevel=”1.0” ”strong=”b/4100|�����/���
x-morph=”OSHM:HR/Ti” ”strong=”6906|��/����������
x-morph=”OSHM:HVqp1cp/Sp2ms”
x-cantillationLevel=”1” ”strong=”d/4643|����������/���
x-morph=”OSHM:HTd/Ncmsa” x-
cantillationLevel=”0.0” ”strong=”c/d/8641|����������/��/��
x-morph=”OSHM:HC/Td/Ncfsa” x-
cantillationLevel=”0”� 9 ”strong=”b/3994|���������/���
x-morph=”OSHM:HRd/Ncfsa” x-cantillationLevel=”1.1.0”
strong=”859|������� d” x-morph=”OSHM:HPp2mp”
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”strong=”779|���������� x-morph=”OSHM:HVNsmpa”
x-cantillationLevel=”1.1” ”strong=”c/853|�/�����/��
x-morph=”OSHM:HC/To/Sp1cs” x-
cantillationLevel=”1.0” strong=”859|�������
d” x-morph=”OSHM:HPp2mp” ”strong=”6906|���������
x-morph=”OSHM:HVqrmpa” x-cantillationLevel=”1”
strong=”d/1471|������/�� a” x-
morph=”OSHM:HTd/Ncmsa” x-cantillationLevel=”0.0”
”strong=”3605|��/������ x-morph=”OSHM:HNcmsc/Sp3ms”
x-cantillationLevel=”0”� 10 ”strong=”935|���������
x-morph=”OSHM:HVhv2mp” ”strong=”853|���
x-morph=”OSHM:HTo”�����|strong=”3605”
x-morph=”OSHM:HNcmsc”����������/����|strong=”d/4643”
x-morph=”OSHM:HTd/Ncmsa” x-
cantillationLevel=”1.2.1.0” ”strong=”413|���
x-morph=”OSHM:HR”�������|strong=”1004
b” x-morph=”OSHM:HNcmsc” ”strong=”d/214|�������/��
x-morph=”OSHM:HTd/Ncmsa” x-
cantillationLevel=”1.2.1” ”strong=”c/1961|�����/��
x-morph=”OSHM:HC/Vqj3ms” ”strong=”2964|�������
x-morph=”OSHM:HNcmsa” x-cantillationLevel=”1.2.0”
strong=”b/1004|�/������/��� b”
x-morph=”OSHM:HR/Ncmsc/Sp1cs”
x-cantillationLevel=”1.2” ”strong=”c/974|���/��������/��
x-morph=”OSHM:HC/Vqv2mp/Sp1cs”
”strong=”4994|���� x-morph=”OSHM:HTe”
x-cantillationLevel=”1.1.0” ”strong=”b/2063|�����/���
x-morph=”OSHM:HR/Pdxfs” x-cantillationLevel=”1.1”
”strong=”559|������ x-morph=”OSHM:HVqp3ms”
x-cantillationLevel=”1.0” ”strong=”3068|�������
x-morph=”OSHM:HNp” strong=”6635|���������
b” x-morph=”OSHM:HNcbpa” x-cantillationLevel=”1”
strong=”518|��� a” x-morph=”OSHM:HC”�����|strong=”3808”
x-morph=”OSHM:HTn” strong=”6605|���������
a” x-morph=”OSHM:HVqi1cs” ”strong=”l|����/��
x-morph=”OSHM:HR/Sp2mp” x-cantillationLevel=”0.1.1”
”strong=”853|���� x-morph=”OSHM:HTo”
x-cantillationLevel=”0.1.0” ”strong=”699|����������
x-morph=”OSHM:HNcfpc” ”strong=”d/8064|����������/��
x-morph=”OSHM:HTd/Ncmpa” x-cantillationLevel=”0.1”
”strong=”c/7324|�����������/��
x-morph=”OSHM:HC/Vhq1cs” ”strong=”l|����/��
x-morph=”OSHM:HR/Sp2mp” x-cantillationLevel=”0.0.0”
”strong=”1293|��������� x-morph=”OSHM:HNcfsa”
x-cantillationLevel=”0.0” ”strong=”5704|���
x-morph=”OSHM:HR”�������|strong=”1097”

x-morph=”OSHM:HTn”�����|strong=”1767”
x-morph=”OSHM:HNcmsa” x-cantillationLevel=”0”�
11 ”strong=”c/1605|�����������/��
x-morph=”OSHM:HC/Vqq1cs” ”strong=”l|����/��
x-morph=”OSHM:HR/Sp2mp” x-cantillationLevel=”1.1.0”
”strong=”b/398|������/���� x-morph=”OSHM:HRd/Vqrmsa”
x-cantillationLevel=”1.1” ”strong=”c/3808|����/��
x-morph=”OSHM:HC/Tn”����������|strong=”7843”
x-morph=”OSHM:HVhi3ms” ”strong=”l|����/��
x-morph=”OSHM:HR/Sp2mp” x-cantillationLevel=”1.0”
”strong=”853|��� x-morph=”OSHM:HTo”��������|strong=”6529”
x-morph=”OSHM:HNcmsc” ”strong=”d/127|��������/��
x-morph=”OSHM:HTd/Ncfsa” x-cantillationLevel=”1”
”strong=”c/3808|���/�� x-morph=”OSHM:HC/Tn”�����������|strong=”7921
a” x-morph=”OSHM:HVpi3fs” ”strong=”l|����/��
x-morph=”OSHM:HR/Sp2mp” ”strong=”d/1612|��������/��
x-morph=”OSHM:HTd/Ncbsa” x-cantillationLevel=”0.1.0”
strong=”b/7704|��������/��� b”
x-morph=”OSHM:HRd/Ncmsa” x-cantillationLevel=”0.1”
”strong=”559|������ x-morph=”OSHM:HVqp3ms”
x-cantillationLevel=”0.0” ”strong=”3068|�������
x-morph=”OSHM:HNp” strong=”6635|���������
b” x-morph=”OSHM:HNcbpa” x-cantillationLevel=”0”�
12 ”strong=”c/833|����������/��
x-morph=”OSHM:HC/Vpq3cp” ”strong=”853|����/����
x-morph=”OSHM:HTo/Sp2mp” x-cantillationLevel=”1.0”
”strong=”3605|���� x-morph=”OSHM:HNcmsc”��������/���|strong=”d/1471
a” x-morph=”OSHM:HTd/Ncmpa” x-
cantillationLevel=”1” strong=”3588|�����
a” x-morph=”OSHM:HC”���������|strong=”1961”
x-morph=”OSHM:HVqi2mp” strong=”859|�������
d” x-morph=”OSHM:HPp2mp” x-cantillationLevel=”0.1.0”
”strong=”776|������ x-morph=”OSHM:HNcbsc”
”strong=”2656|������ x-morph=”OSHM:HNcmsa”
x-cantillationLevel=”0.1” ”strong=”559|������
x-morph=”OSHM:HVqp3ms” x-cantillationLevel=”0.0”
”strong=”3068|������� x-morph=”OSHM:HNp”
strong=”6635|��������� b” x-morph=”OSHM:HNcbpa”
x-cantillationLevel=”0”� � 13 ”strong=”2388|��������
x-morph=”OSHM:HVqp3cp” strong=”5921|�/�����
a” x-morph=”OSHM:HR/Sp1cs” x-cantillationLevel=”1.0.0”
”strong=”1697|����/�������� x-
morph=”OSHM:HNcmpc/Sp2mp” x-cantillationLevel=”1.0”
”strong=”559|������ x-morph=”OSHM:HVqp3ms”
”strong=”3068|������� x-morph=”OSHM:HNp”
x-cantillationLevel=”1” ”strong=”c/559|�����������/��
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x-morph=”OSHM:HC/Vqq2mp” x-cantillationLevel=”0.1”
”strong=”4100|��� x-morph=”OSHM:HTi”���������������|strong=”1696”
x-morph=”OSHM:HVNp1cp” x-cantillationLevel=”0.0”
strong=”5921|��/������ a” x-morph=”OSHM:HR/Sp2ms”
x-cantillationLevel=”0”� 14 ”strong=”559|�����������
x-morph=”OSHM:HVqp2mp” x-cantillationLevel=”1.1”
”strong=”7723|������� x-morph=”OSHM:HNcmsa”
x-cantillationLevel=”1.0” ”strong=”5647|������
x-morph=”OSHM:HVqc” ”strong=”430|���������
x-morph=”OSHM:HNcmpa” x-cantillationLevel=”1”
”strong=”c/4100|���/�� x-morph=”OSHM:HC/Ti”��������|strong=”1215”
x-morph=”OSHM:HNcmsa” x-cantillationLevel=”0.2.1”
strong=”3588|����� a” x-morph=”OSHM:HC”
”strong=”8104|������������ x-
morph=”OSHM:HVqp1cp” x-cantillationLevel=”0.2.0”
”strong=”4931|��/������������
x-morph=”OSHM:HNcfsc/Sp3ms” x-
cantillationLevel=”0.2” strong=”c/3588|����/��
a” x-morph=”OSHM:HC/C” ”strong=”1980|�����������
x-morph=”OSHM:HVqp1cp” x-cantillationLevel=”0.1.0”
”strong=”6941|������������� x-
morph=”OSHM:HD” x-cantillationLevel=”0.1”
”strong=”m/6440|�������/�� x-morph=”OSHM:HR/Ncbpc”
x-cantillationLevel=”0.0” ”strong=”3068|�������
x-morph=”OSHM:HNp” strong=”6635|���������
b” x-morph=”OSHM:HNcbpa” x-cantillationLevel=”0”�
15 ”strong=”c/6258|�������/�� x-
morph=”OSHM:HC/D” x-cantillationLevel=”1.1”
”strong=”587|���������� x-morph=”OSHM:HPp1cp”
x-cantillationLevel=”1.0” ”strong=”833|�������������
x-morph=”OSHM:HVprmpa” ”strong=”2086|�������
x-morph=”OSHM:HAampa” x-cantillationLevel=”1”
”strong=”1571|���� x-morph=”OSHM:HTa”���������|strong=”1129”
x-morph=”OSHM:HVNp3cp” x-cantillationLevel=”0.1.0”
strong=”6213|������� a” x-morph=”OSHM:HVqrmpc”
”strong=”7564|��������� x-morph=”OSHM:HNcfsa”
x-cantillationLevel=”0.1” ”strong=”1571|�����
x-morph=”OSHM:HTa” ”strong=”974|���������
x-morph=”OSHM:HVqp3cp” x-cantillationLevel=”0.0.0”
”strong=”430|��������� x-morph=”OSHM:HNcmpa”
x-cantillationLevel=”0.0” ”strong=”c/4422|������������/��
x-morph=”OSHM:HC/VNw3mp” x-cantillationLevel=”0”�
16 strong=”227|���� a” x-morph=”OSHM:HD”
”strong=”1696|����������� x-morph=”OSHM:HVNp3cp”
x-cantillationLevel=”1.0.0” ”strong=”3372|��������
x-morph=”OSHM:HAampc” ”strong=”3068|�������

x-morph=”OSHM:HNp” x-cantillationLevel=”1.0”
”strong=”376|������ x-morph=”OSHM:HNcmsa”
”strong=”854|��� x-morph=”OSHM:HR”���/������|strong=”7453”
x-morph=”OSHM:HNcmsc/Sp3ms” x-
cantillationLevel=”1” ”strong=”c/7181|����������/��
x-morph=”OSHM:HC/Vhw3ms” ”strong=”3068|�������
x-morph=”OSHM:HNp” x-cantillationLevel=”0.2.0”
”strong=”c/8085|����������/��
x-morph=”OSHM:HC/Vqw3ms” x-cantillationLevel=”0.2”
”strong=”c/3789|���������/���
x-morph=”OSHM:HC/VNw3ms” x-cantillationLevel=”0.1.0.0”
strong=”5612|������ a” x-morph=”OSHM:HNcmsc”
”strong=”2146|���������� x-morph=”OSHM:HNcmsa”
”strong=”l/6440|��/�����/�� x-morph=”OSHM:HR/Ncbpc/Sp3ms”
x-cantillationLevel=”0.1.0” ”strong=”l/3372|��������/��
x-morph=”OSHM:HR/Aampc” ”strong=”3068|�������
x-morph=”OSHM:HNp” x-cantillationLevel=”0.1”
”strong=”c/l/2803|���������/��/��
x-morph=”OSHM:HC/R/Vqrmpc” x-cantillationLevel=”0.0”
”strong=”8034|��/����� x-morph=”OSHM:HNcmsc/Sp3ms”
x-cantillationLevel=”0”� 17 ”strong=”c/1961|������/��
x-morph=”OSHM:HC/Vqq3cp” ”strong=”l|�/���
x-morph=”OSHM:HR/Sp1cs” x-cantillationLevel=”1.2.1”
”strong=”559|������ x-morph=”OSHM:HVqp3ms”
x-cantillationLevel=”1.2.0” ”strong=”3068|�������
x-morph=”OSHM:HNp” strong=”6635|���������
b” x-morph=”OSHM:HNcbpa” x-cantillationLevel=”1.2”
”strong=”l/3117|������/�� x-morph=”OSHM:HRd/Ncmsa”
x-cantillationLevel=”1.1” strong=”834|�������
a” x-morph=”OSHM:HTr” ”strong=”589|������
x-morph=”OSHM:HPp1cs” x-cantillationLevel=”1.0”
strong=”6213|������� a” x-morph=”OSHM:HVqrmsa”
”strong=”5459|��������� x-morph=”OSHM:HNcfsa”
x-cantillationLevel=”1” ”strong=”c/2550|�����������/��
x-morph=”OSHM:HC/Vqq1cs” strong=”5921|����/�����
a” x-morph=”OSHM:HR/Sp3mp” x-cantillationLevel=”0.2”
strong=”k/834|�������/���� d”
x-morph=”OSHM:HR/Tr” x-cantillationLevel=”0.1.0”
”strong=”2550|�������� x-morph=”OSHM:HVqi3ms”
”strong=”376|������ x-morph=”OSHM:HNcmsa”
x-cantillationLevel=”0.1” strong=”5921|���
a” x-morph=”OSHM:HR”��/������|strong=”1121
a” x-morph=”OSHM:HNcmsc/Sp3ms”
x-cantillationLevel=”0.0” ”strong=”d/5647|������/��
x-morph=”OSHM:HTd/Vqrmsa” ”strong=”853|��/����
x-morph=”OSHM:HTo/Sp3ms” x-cantillationLevel=”0”�



CONTENTS 17

18 ”strong=”c/7725|����������/��
x-morph=”OSHM:HC/Vqq2mp” x-cantillationLevel=”1.1.0”
”strong=”c/7200|���������/�� x-
morph=”OSHM:HC/Vqq2mp” x-cantillationLevel=”1.1”
”strong=”996|������ x-morph=”OSHM:HR”
”strong=”6662|�������� x-morph=”OSHM:HAamsa”
x-cantillationLevel=”1.0” ”strong=”l/7563|�������/��
x-morph=”OSHM:HR/Aamsa” x-cantillationLevel=”1”
”strong=”996|������ x-morph=”OSHM:HR”
x-cantillationLevel=”0.1.0” ”strong=”5647|������
x-morph=”OSHM:HVqrmsc” ”strong=”430|���������
x-morph=”OSHM:HNcmpa” x-cantillationLevel=”0.1”
strong=”l/834|�������/�� a” x-morph=”OSHM:HR/Tr”
x-cantillationLevel=”0.0” ”strong=”3808|����
x-morph=”OSHM:HTn” ”strong=”5647|��/������
x-morph=”OSHM:HVqp3ms/Sp3ms”
x-cantillationLevel=”0”� � 19 5 KJV:Mal.4.1
strong=”3588|����� a” x-morph=”OSHM:HC”��������|strong=”2009”
x-morph=”OSHM:HTm” ”strong=”d/3117|������/��
x-morph=”OSHM:HTd/Ncmsa” x-cantillationLevel=”1.1.0”
”strong=”935|����� x-morph=”OSHM:HVqrmsa”
x-cantillationLevel=”1.1” strong=”1197|�������
a” x-morph=”OSHM:HVqrmsa” x-cantillationLevel=”1.0”
”strong=”k/8574|���������/���
x-morph=”OSHM:HRd/Ncmsa” x-cantillationLevel=”1”
”strong=”c/1961|������/�� x-morph=”OSHM:HC/Vqq3cp”
”strong=”3605|��� x-morph=”OSHM:HNcmsc”��������|strong=”2086”
x-morph=”OSHM:HAampa” x-cantillationLevel=”0.2.0.0”
”strong=”c/3605|���/�� x-morph=”OSHM:HC/Ncmsc”��������|strong=”6213
a” x-morph=”OSHM:HVqrmsc” ”strong=”7564|���������
x-morph=”OSHM:HNcfsa” x-cantillationLevel=”0.2.0”
”strong=”7179|����� x-morph=”OSHM:HNcmsa”
x-cantillationLevel=”0.2” ”strong=”c/3857|������/��
x-morph=”OSHM:HC/Vpp3ms” ”strong=”853|�/�����
x-morph=”OSHM:HTo/Sp3mp” x-cantillationLevel=”0.1.1.0”
”strong=”d/3117|������/�� x-morph=”OSHM:HTd/Ncmsa”
”strong=”d/935|�����/�� x-morph=”OSHM:HTd/Vqrmsa”
x-cantillationLevel=”0.1.1” ”strong=”559|������
x-morph=”OSHM:HVqp3ms” x-cantillationLevel=”0.1.0”
”strong=”3068|������� x-morph=”OSHM:HNp”
strong=”6635|��������� b” x-morph=”OSHM:HNcbpa”
x-cantillationLevel=”0.1” strong=”834|�������

a” x-morph=”OSHM:HTr” x-cantillationLevel=”0.0.0”
”strong=”3808|��� x-morph=”OSHM:HTn”���������|strong=”5800
a” x-morph=”OSHM:HVqi3ms” ”strong=”l|����/��
x-morph=”OSHM:HR/Sp3mp” x-cantillationLevel=”0.0”
”strong=”8328|�������� x-morph=”OSHM:HNcmsa”
”strong=”c/6057|������/�� x-morph=”OSHM:HC/Ncmsa”
x-cantillationLevel=”0”� 20 6 KJV:Mal.4.2
”strong=”c/2224|��������/�� x-morph=”OSHM:HC/Vqq3fs”
”strong=”l|����/�� x-morph=”OSHM:HR/Sp2mp”
x-cantillationLevel=”1.1.0.0” ”strong=”3373|��������
x-morph=”OSHM:HAampc” ”strong=”8034|��/�����
x-morph=”OSHM:HNcmsc/Sp1cs” x-cantillationLevel=”1.1.0”
”strong=”8121|�������� x-morph=”OSHM:HNcbsc”
”strong=”6666|�������� x-morph=”OSHM:HNcfsa”
x-cantillationLevel=”1.1” ”strong=”c/4832|���������/��
x-morph=”OSHM:HC/Ncmsa” x-cantillationLevel=”1.0”
”strong=”b/3671|��/��������/���
x-morph=”OSHM:HR/Ncfdc/Sp3fs” x-
cantillationLevel=”1” ”strong=”c/3318|��������/���
x-morph=”OSHM:HC/Vqq2mp” strong=”c/6335|����������/��
a” x-morph=”OSHM:HC/Vqq2mp” x-cantillationLevel=”0.0”
”strong=”k/5695|��������/��� x-
morph=”OSHM:HR/Ncmpc” ”strong=”4770|���������
x-morph=”OSHM:HNcmsa” x-cantillationLevel=”0”�
21 7 KJV:Mal.4.3 ”strong=”c/6072|����������/��
x-morph=”OSHM:HC/Vqq2mp” ”strong=”7563|����������
x-morph=”OSHM:HAampa” x-cantillationLevel=”1.2”
strong=”3588|����� a” x-morph=”OSHM:HC”���������|strong=”1961”
x-morph=”OSHM:HVqi3mp” ”strong=”665|������
x-morph=”OSHM:HNcmsa” x-cantillationLevel=”1.1”
”strong=”8478|������� x-morph=”OSHM:HR”
x-cantillationLevel=”1.0” ”strong=”3709|���������
x-morph=”OSHM:HNcfpc” ”strong=”7272|����/�������
x-morph=”OSHM:HNcfdc/Sp2mp” x-cantillationLevel=”1”
”strong=”b/3117|������/��� x-morph=”OSHM:HRd/Ncmsa”
x-cantillationLevel=”0.1.0” strong=”834|�������
a” x-morph=”OSHM:HTr” ”strong=”589|������
x-morph=”OSHM:HPp1cs” strong=”6213|�������
a” x-morph=”OSHM:HVqrmsa” x-cantillationLevel=”0.1”
”strong=”559|������ x-morph=”OSHM:HVqp3ms”
x-cantillationLevel=”0.0” ”strong=”3068|�������
x-morph=”OSHM:HNp” strong=”6635|���������

5+
6+
7+
8+



18 CONTENTS

b” x-morph=”OSHM:HNcbpa” x-cantillationLevel=”0”�
� 22 8 KJV:Mal.4.4 ”strong=”2142|��������
x-morph=”OSHM:HVqv2mp” x-cantillationLevel=”1.1”
”strong=”8451|�������� x-morph=”OSHM:HNcfsc”
x-cantillationLevel=”1.0” ”strong=”4872|�������
x-morph=”OSHM:HNp” ”strong=”5650|�/��������
x-morph=”OSHM:HNcmsc/Sp1cs” x-cantillationLevel=”1”
strong=”834|������� a” x-morph=”OSHM:HTr”
”strong=”6680|���������� x-morph=”OSHM:HVpp1cs”
”strong=”853|��/����� x-morph=”OSHM:HTo/Sp3ms”
”strong=”b/2722|������/�� x-morph=”OSHM:HR/Np”
x-cantillationLevel=”0.1.0” strong=”5921|���
a” x-morph=”OSHM:HR”�����|strong=”3605”
x-morph=”OSHM:HNcmsc”������������|strong=”3478”
x-morph=”OSHM:HNp” x-cantillationLevel=”0.1”
”strong=”2706|�������� x-morph=”OSHM:HNcmpa”
x-cantillationLevel=”0.0” ”strong=”c/4941|�������������/��
x-morph=”OSHM:HC/Ncmpa” x-cantillationLevel=”0”�
23 9 KJV:Mal.4.5 ”strong=”2009|�������
x-morph=”OSHM:HTm” ”strong=”595|���������
x-morph=”OSHM:HPp1cs” x-cantillationLevel=”1.1.0”
”strong=”7971|�������� x-morph=”OSHM:HVqrmsa”
”strong=”l|����/�� x-morph=”OSHM:HR/Sp2mp”
x-cantillationLevel=”1.1” ”strong=”853|����
x-morph=”OSHM:HTo” x-cantillationLevel=”1.0”
”strong=”452|��������� x-morph=”OSHM:HNp”
”strong=”d/5030|��������/�� x-morph=”OSHM:HTd/Ncmsa”
x-cantillationLevel=”1” ”strong=”l/6440|������/��
x-morph=”OSHM:HR/Ncbpc” x-cantillationLevel=”0.1.1”

”strong=”935|������ x-morph=”OSHM:HVqc”
x-cantillationLevel=”0.1.0” ”strong=”3117|�����
x-morph=”OSHM:HNcmsc” ”strong=”3068|�������
x-morph=”OSHM:HNp” x-cantillationLevel=”0.1”
strong=”d/1419|��������/�� a”
x-morph=”OSHM:HTd/Aamsa” x-cantillationLevel=”0.0”
”strong=”c/d/3372|��������/��/��
x-morph=”OSHM:HC/Td/VNrmsa” x-
cantillationLevel=”0”� 24 10 KJV:Mal.4.6
”strong=”c/7725|��������/�� x-morph=”OSHM:HC/Vhq3ms”
strong=”3820|��� a” x-morph=”OSHM:HNcmsc”��������|strong=”1”
x-morph=”OSHM:HNcmpa” x-cantillationLevel=”1.1.0”
strong=”5921|��� a” x-morph=”OSHM:HR”���������|strong=”1121
a” x-morph=”OSHM:HNcmpa” x-cantillationLevel=”1.1”
strong=”c/3820|����/�� a” x-morph=”OSHM:HC/Ncmsc”
strong=”1121|�������� a” x-morph=”OSHM:HNcmpa”
x-cantillationLevel=”1.0” strong=”5921|���
a” x-morph=”OSHM:HR”�/���������|strong=”1”
x-morph=”OSHM:HNcmpc/Sp3mp” x-
cantillationLevel=”1” ”strong=”6435|����
x-morph=”OSHM:HC”��������|strong=”935”
x-morph=”OSHM:HVqi1cs” x-cantillationLevel=”0.1”
”strong=”c/5221|����������/��
x-morph=”OSHM:HC/Vhq1cs” ”strong=”853|���
x-morph=”OSHM:HTo”������/���|strong=”d/776”
x-morph=”OSHM:HTd/Ncbsa” x-cantillationLevel=”0.0”
strong=”2764|������ a” x-morph=”OSHM:HNcmsa”
x-cantillationLevel=”0”�

9+
10+


